w= BB T F

Products Contents En:ﬁ =| ﬁ%

& U, | [ KGTZH m@EE |
I ID

.

J

(
.

qg’?? [ PHS%5I RIRIEH |

N\

b
= [HSR%3I BEE |
-

/ [JAC/JAD%3] ®®EH |

VG#5 HZEREE |

[t

-,
¢ |
\"’/’ =
=g
T &>

| VPA/B%5I HZERE |

(Lt

|

LSOF:

| JPC%5I SIEBILRE |

&)

332

BT
T

R
3



[ JQEZ3 REHRMA |
[ JBVZS BEREM |

333



JFC

KGT ¥ ) 1% 88

KGT ;ZEhizsa

BX o 7] #8 3R 7R

KGT H 1016 +— P1.5
iF 18 F SO A 1 7 BE
?2 1016
EE TR
uR *%%M']G
A=
i
LA
G KK
N H
A
EE  |BASIE
s KK A B C D E F G H N U g ||ORE | mEA
(9) (mm) (N)
KGT-1003 | M3x05 | 245 | 7 8 2 2 3 | 35 | 8 7 [ 05 | 10 19
KGT-1004 | MAx07 | 26 8 9 2 2 Z 4 8 7 [ 05 [ 10 [ 810 | 54
KGT-1005| M5x08 | 38 | 14 | 15 | 18 | 3 5 5 T | 85 | 05 | 20 | 12-16 | 123
KGT-1006 | M6x10 | 38 | 14 | 15 | 18 | 3 6 5 T | 85 | 05 | 20 | 16-20 | 123
KGT-1008 | M8x125 | 50 | 18 | 20 | 24 | 4 8 7 4 | 12 | 05 | 9 | 20-25 | 1100
KGT-1010 m%.és 61 20 | 2 | 2 5 10 7 177 | 14 | 075 | 110 | 25-32 | 2500
M12x1.25
KGT-1012 [Mi2x15 | 58 | 20 | 22 | 28 | 5 122 | s 177 | 12 | o075 | 110 | 32-40 | 4400
MA2x1.75
KGT-1014 | Mi4xi5 | 70 | 21 | 24 | 35 | 7 % 8 27 T [ 250 | 4050 | 6000
KGT-1016 | Mi6x15 | 90 | 26 | 28 | 45 | O 6 | 13 | 27 | 23 | 125 | 500 | 50-63 | 11000
KGT-1018 | Mi8x15 | 90 | 26 | 28 | 45 | 9 8 | 13 | 27 | 23 | 125 | 500 | 50-63 | 11000
KGT-1020 | M20x15 | 103 | 30 | 32 | 50 | 8 20 | 16 | 32 | 27 2 | 720 | 63-80 | 18000
KGT-1022 | M2x15 | 103 | 30 | 32 | 50 | 8 | 22 | 6 | 32 | 27 2 [ 720 | 63-80 | 18000
KGT-1024 | M24x15 | 125 | 38 | 38 | 61 | 12 | 24 | 19 | 41 | 33 | 25 | 1300 | 80-100 | 28000
KGT-1026 | M26x15 | 125 | 38 | 38 | 61 | 12 | 26 | 19 | 41 | 33 | 25 | 1300 | 80-100 | 28000
KGT-1027 | M27x20 | 154 | 58 | 58 | 635 | 19 | 30 | 19 | 41 | 33 | 25 | 1620 |125-160 | 28000
KGT-1030 mgg’x‘gg 14 | 58 | 58 | 635 | 19 | 30 | 18 | 41 | 33 3 | 1620 |125-160| 54000
KGT-1036 mggg-g 184 | 75 | 75 | 75 | 20 | 36 | 2 | 50 | 4 4 | 2820 |160-200| 71000
KGT-1030 | M39x15 | 784 | 75 | 75 | 75 | 20 | 36 | = | 50 | 42 4 | — [160-200] 71000
KGT-1040 | Md0x20 | 194 | 74 | 74 | 8 | 15 | 45 | 25 | 69 | 40 5 | — [200-250] —
KGT-1045 mggg 194 | 74 | 74 | 8 | 15 | 45 | 25 | 69 | 40 5 | 4300 |200-250| —
KGT-1050 | M50x20 | 210 | 70 | 70 | 105 | 16 | 53 | 35 | & | % 6 | 6980 | 320 =

334




JFC PHS fafRiEEE

PHS RIR#ZME

BX om 7] #8 3R 7R

PHS - 16B
| |

=2 —
Iy ‘ﬁ i T,.EI
iR 18 AR SR &L & 55

-

£ 16B:3% T8 5F
EE| 515 M16

BABE R _
@ Ea | 2 (9)

N w

45| 6 | 79|65 7 |450] 150 10
7 8
8

## ® | KK |A | B|C|D|E| F| G

P
PHS-3 M3x0.5 27 151|220 | 8 |14 ] 3 6 3
PHS-4 M4x0.7 32 |74 24110 | 16 | 35| 8 | 4 |52

5

6

8

95| 8 520 | 200 12
1.1] 9 9 | 620 | 230 18

PHS-5 M5x0.8 35 | 772712 |16 | 4 | 14
PHS-6 M6x1.0 39| 9 [ 30| 13|18 | 5 | 14 7 9 [12.7] 10 | 11 | 690 | 270 26
PHS-8 M8x1.25 | 47 [10.4| 36 | 16 | 22 | 5 | 17 9 | 12 |15.9]/12.5| 14 | 990 | 430 45
PHS-10B | M10x1.25| 57 |12.9]| 43 | 19 | 26 | 6.5| 21 | 10 [10.5] 14 |19.1] 15 | 17 |1340| 630 76
PHS-12B | M12x1.25| 66 |15.4| 50 | 22 | 30 | 65| 24 | 12 | 12 | 16 |22.2|17.5] 19 |1650| 800 114
PHS-14B |M14x1.5 | 75 |16.9| 57 | 25 | 34 | 8 | 27 | 14 |13.5] 19 |25.4| 20 | 22 |2090(1070| 158
PHS-16B |M16x1.5 | 83 |19.4| 64 | 27 | 38 | 8 | 33 | 16 | 15 | 21 [28.6| 22 | 22 |2470[1290| 200
PHS-18 M18x1.5 | 92 [21.9| 71 | 31 | 42 | 10 | 36 | 18 [16.8| 23 |31.8| 25 | 27 |2990|1620| 288
PHS-20 M20x1.5 | 100 (24.4| 77 | 37 | 46 | 10 | 40 | 20 | 18 | 25 |34.9|27.5| 30 |3460|1890| 372
PHS-22 M22x1.5 | 109 [25.8| 84 | 37 | 50 | 12 | 43 | 22 | 20 | 28 |38.1| 30 | 32 |4070|2290| 475
PHS-24B | M24x2.0 | 122|29.6| 94 | 42 | 56 | 12 | 48 | 25 | 22 | 31 [42.9|33.5| 36 [4950(2830| 673
PHS-30B | M30x2.0 | 143|34.8|/ 110 | 50 | 67 | 15 | 56 | 30 | 26 | 37 |50.8| 40 | 41 |3770/3960| 1050

335



S

JFC HSR &R 23

HSR 12 & =3

BX i 5] 18 3R 7R

: 3 ; 3 HSR — 30
" o p
/ | : |
: ™ & T 8
- =
. " R 15,30, 60, 80,100
25 S 2B
R~THE
ANER R ~F
A
i B
21 24
. . T
S - | &
RIgE HSR-15| HSR-30 | HSR-60 | HSR-80| HSR-100
A(mm) 153 203 282.5 351 390
B(mm) 138 173 2225 271 290
RAITE(mm) 15 30 60 80 100 e
TERECC) 0~0 7
TEaR (k) 15~350
TEZEE(mm/s) 0.5~30
EE(g) 470 495 615 690 765 L)
o

336




JFC JAC/[JAD #E&E 2%

4% 181 23
o [EEIRAMIE: (1)EEAAE (JAD)
(2)EEARAHE (JAC)
o MUTEERENEE , IR REN
o [FREEBIEMAIEE
o Nt ERS
o kRN E W
o BT/, REFHE

o JAC EBEEATRFBEIMHER)

——— n—

By | EERE | BEFE | BARK |rpens | owrl | Pas’ | @EEE | 52 | =t
(mm) BEE (Nm) (Nmvhr) (kg) (mis) (°C) g
JAC-0806 6 M8x1.0 2 8800 0.5~6 0.5~2 0~60 11 SC8
JAC-1008 8 M10x1.0 4 15200 2~9 0.8~3 0~60 20 SC10
JAC-1210 10 M12x1.0 5 17640 5~30 0.8~3 0~60 31.5 SC12
JAC-1412 12 M14x1.5 15 30000 8~100 0.8~3 0~60 80 SC14
JAC-1416 16 M14x1.5 20 35000 10~150 0.8~3 0~60 80 SC14
JAC-2020 20 M20x1.5 40 40000 30~700 1~3.5 0~60 215 SC20
JAC-2050 50 M20x1.5 60 60000 60~400 1~3.5 0~60 300 SC20
JAC-2525 25 M25x1.5 80 54000 200~1500 1~4 0~60 330 SC25
JAC-2540 40 M25x1.5 120 75000 300~2000 1~4 0~60 430 SC25
JAC-2580 80 M25x1.5 150 120000 20~200 1~4 0~60 535 SC25
JAC-3660 60 M36x1.5 250 120000 400~2400 1~4 0~60 1030 SC36

[ JAD w%ﬁiﬁgﬁjsﬁ

—— e
By | EERE | BEFE | BARK | pens| ownl | Tae’ | @REE | 58 | =t
(mm) BEE (Nm) (Nm/hr) (kg) (ms) (°C) RS
JAD-1410 10 M14x1.5 20 25000 80 3 0~60 90 SC14
JAD-1425 25 M14x1.5 28 27500 140 3 0~60 190 SC14
JAD-2016 16 M20x1.5 25 28500 200 3.5 0~60 230 SC20
JAD-2525 25 M25x1.5 85 54000 400 3.5 0~60 350 SC25
JAD-2540 40 M25x1.5 100 80000 700 3.5 0~60 455 SC25
JAD-3625 25 M36x1.5 150 81000 1400 3 0~60 955 SC36
JAD-3650 50 M36x1.5 300 100000 1400 3 0~60 1100 SC36
JAD-4225 25 M42x1.5 260 125000 3000 3.5 0~60 1280 —
JAD-4250 50 M42x1.5 500 150000 4000 4.5 0~60 1490 —
JAD-4275 75 M42x1.5 750 180000 6000 4.5 0~60 1710 —
JAD-64050 50 M64x2.0 1200 150000 12727 1.5 0~60 4115 -
JAD-64100 100 M64x2.0 2400 200000 18181 1.5 0~60 5280 —
JAD-64150 150 M64x2.0 3600 250000 23636 1.5 0~60 6785 -

337



JFC JAC/[JAD #E&E 2%

A 1E:mm H $1:kgf

itﬂw‘l(10 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 |100| 125

7 7113.9|5.7| 10 |15.7|24.5| 40 [62.8| 98 |155| 251|393 | 613

— 0806 [ [

—1008 [ [
—1210 o

—1412

—1416

— 2020
— 2050 [ o [
— 2525 o L o

(OVM)% 2| - it 5 ¥ &

— 2540 o L

— 2580 o o
— 3660 o L o

—1410 [ [

— 1425

— 2016 [

— 2525

N
|

— 2540
— 3625 L o [

—\
HEH
i

— 3650 L

—4225

(avr) 5 =] kit S

—4250

—4275

—64050

—64100

— 64150

338



JFC

RX on 7] #8 3R 7R

JAC[JAD #EE2s

JAD 120 - 16 |4 SC20 |
[ [ [ [ [
EEEE fIpgsNE | |(E&ETIE| | EAIEME EEE
[ \ \
JAC: BEREEAH SCos8 BB
JAD: (B ik AT R >C10 EERHMRE
SC12 Mk
SC14
SC20
SC25
SC25L
Az=Em mriEes  THEEEE; 5C36
kv =
ANER R ~F
o JACEEEE A T]A
e JACO806~JAC2050
e JAC2525 e JAC2540
H " — H M !
a RaYE - Lo [ -
F S G L F -
E 1R B ! E fes: 3 — B !
A A
e JAC2580 eJAC3660
\ H [V E
H M ==
o L M el L
>
U 3 [E=I
J = O =
\_J . \_J ‘ N _T -
G F
E e B £ i — B -
A ' A
picko 1718 M A B C D E F M G H |
JAC-0806 6 M8x1.0 50 38 6.6 2.8 6 33 M8x1.0 — 1 3
JAC-1008 8 M10x1.0 57 43 8.6 3 6 37.9 | M10x1.0 — 12.7 3
JAC-1210 10 M12x1.0 69.5 50 10.3 3 9.5 455 | M12x1.0 — 14 4
JAC-1412 12 M14x1.5 98.5 76 12 4 10.5 67 M14x1.5 = 19 5
JAC-1416 16 M14x1.5 121.5 95 12 4 10.5 86 M14x1.5 — 19 5
JAC-2020 20 M 20X1.5| 145.8 110 18 6 15.8 101 M 20X1.5 = 26 7
JAC-2050 50 M 20X1.5 | 232.8 167 17.8 6 15.8 158 | M 20X1.5 — 26 7
JAC-2525 25 M 25X1.5| 155.5 111 22 8 19.5 101 M 25X1.5 — 32 9
JAC-2540 40 M 25X1.5| 213.8 137 22 8 36.8 117 M 25X1.5 10 32 9
JAC-2580 80 M 25X1.5 | 336.5 237 22 8 19.5 100 | M 25X1.5 = 32 9
JAC-3660 60 M 36X1.5| 248 162 35.5 10 26 134 | M 36X1.5 17 46 15

339




JFC

SNERR T B

oJAD ZEEE A

JAC[JAD #EE2s

e JAD1410~JAD2525 e JAD2540 eJAD3625~JAD3650
H ! H H |
M M M
a /7 —\ 7‘34 /7 ) a /7 (—\
TSRO B fesr 3 @=n
L I O O ( O
G| F 6 F E |78 F
E 'ﬂL B E_|fT# B B
A A
e JAD64050~JAD64150
M
1@ oo
ﬁ«
G F £
E 1718 B A
A
pih) 718 M A B c D E F M G H |
JAD-1410 10 M14x1.5 | 109 88.5 12 4 105 | 725 | M14x1.5 — 19 5
JAD-1425 25 M14x1.5 | 153.2 117 12 4 11.2 101 M14x1.5 — 19 5
JAD-2016 16 M20x1.5 | 148.8 117 17.8 6 15.8 101 M20x1.5 — 26 7
JAD-2525 25 M25x1.5 | 162 117.5 22 8 19.5 101 M25x1.5 = 32 9
JAD-2540 40 M25x1.5 | 221.3 | 1445 22 8 36.8 117 M25x1.5 10 32 9
JAD-3625 25 M36x1.5 | 184 133 355 10 26 103 M36x1.5 10 46 15
JAD-3650 50 M36x1.5 | 247 171 355 10 26 134 M36x1.5 17 46 15
JAD-4225 25 M42x1.5 | 186.5 | 127.5 | 445 12 34 88 M42x1.5 | 28.5 50 15
JAD-4250 50 M42x1.5 | 241 157 445 12 34 1175 | M42x1.5 | 285 50 15
JAD-4275 75 M42x1.5 | 3015 | 187.5 | 445 12 39 148 M42x1.5 | 28.5 50 15
JAD-64050 50 M64x2.0 | 247.8 146 59 20 51.8 26 M64x2.0 | 23 76.2 9.4
JAD-64100 100 M64x2.0 | 347.8 196 59 20 51.8 26 M64x2.0 | 23 76.2 9.4
JAD-64150 150 M64x2.0 | 467.8 | 256 59 20 61.8 26 M64x2.0 | 23 76.2 9.4
ShER R ~F
o TEIIZNE (SC)
ri Ta—gF
~~~~~~ ~ @
R ) \\ /
A 0 A D ¥ )
B FCER
1848 A B (o D E 1848 A B (o D E
SC 08 14 11 12.6 |[M8x1.0 — SC 20 35 26 29.7 |[M20x1.5| 25
SC 10 16 12.7 145 [M10x1.0| — SC 25 45 32 36.7 |M25x1.5| 31.5
SC 12 20 14 16 M12x1.0| — SC25L| 65 32 36.7 |[M25x1.5| 315
SC 14 27 19 216 |M14x1.5| 18 SC 36 80 46 53 |M36x1.5| 45

340




JFC

VGA i T\ B 25 88 £ 28

AR 3R

v

i~

S

VGA |

o
i

FX on 7] {8 3R R

VGA — 10

[ [ I
BEEE4Ln BEER BEHERKE

1 1 1

flt 05:0.5mm ERATER

*_’"% 10:1.0mm | | THEDBEE

I S EE 1 {E Rk 88

=1 15:1.5mm . ey

% 20:2.0mm AolAL -

% SJ:MIEE N EREES

s ) TR

1]

18R B VGA VGA-SI VGA-SJ
fERRRE B 4EZER / 1SO-VG32
fERRE (°C) 0~60
B HmEE (Kgflcm?) =
T{EEEA (Kgflcm?) 1~6
REEE (mmHg) — -400 -250~-550
HREERRE(E (mmHg) — -400 -400
EN{EIEE (mmHg) — +40
i3 7= (mmHg) — 30~100
ERTER — AC125V : 5A+~ AC250V : 3A

151 3R

B | BEEE HRE |IEEZE | ZREREE | HEEN

5H (mm) (min) (-mmHg) (N¢/min) (Kgfien)
VGA-05H5 0.5 6 650 13 5.0
VGA-05L5 0.5 9 430 13 5.0
VGA-10H5 1.0 27 690 44 5.0
VGA-10L5 1.0 36 430 44 5.0
VGA-15H5 15 63 690 100 5.0
VGA-15L5 1.5 95 430 100 5.0
VGA-20H5 2.0 110 690 180 5.0
VGA-20L5 2.0 165 430 180 5.0
VGA-10H3.5 1.0 25 680 44 3.5
VGA-10L3.5 1.0 32 430 44 BI5
VGA-15H3.5 15 54 680 100 3.5
VGA-15L3.5 15 86 430 100 3.5
VGA-20H3.5 2.0 88 680 180 3.5
VGA-20L3.5 2.0 150 430 180 3.5

341

® VGA 1B [E




JFC VGA 1
5b 2 R < 5

o VGA EXRE

Q:%f:
;I;
il
Hit
3
5;3

i OI@ J{‘} ********** ==

Bl

by A B C D E F G H | J K L M N
=T
VGA-05 | 46 26 16 10 8 13 18 4 42 |PS1/8| 10 |PS1/8| 28 16
VGA-10 | 46 26 16 10 8 13 18 4 42 |PS1/8| 10 |PS1/8| 28 16
VGA-15 | 65 30 20 12 10 22 23 5 45 |PS1/4| 15 |PS1/4| 39 21
VGA-20 | 88 38 26 12 13 25 35 6 52 |PS3/8| 20 ([PS1/4| 50 26
® VGA-SIZE!
[a]

B
iy A B (3 D

VGA-SI-05 | 16 56 28 35
VGA-SI-10 | 16 56 28 35
VGA-SI-15 | 23 80 39 38
VGA-SI-20 | 26 108 50 38

o VGA-SJ &

27

|
|
\
IBiC
|
A |12 _L c
HC 3R
mH A| B |C | D

VGA-SJ-05| 16 56 28 35
VGA-SJ-10 | 16 56 28 35
VGA-SJ-15| 23 80 39 38
VGA-SJ-20 | 26 108 50 38

342



EFIVHZEH SR

mvil

JFC VGU

VGU EFAEHZEHERS

® VGU At BATHE £
L

VGU — 10
[ [
EHZE#4zs BEEER
\ \
e EFRNEZTZHEEBME =5} 10:1.0mm
. Brown DG % 15:1.5mm
| \% Lw.MmA :T:t 20:2.0mm
Swijch Black m E
main ouT = DC12~ 24V oo
circuit Aﬁ T F I =
| Blue % DC(-) §§
4
73
%74 =+
RIBE SR
BRI RS B #EZER/1SO-VG32 B | BEEE HRE IFEEETE | ZERHEER | HEED
EMEE (C) 0~60 BEH (mm) (¢min) (-mmHg) (N¢/min) (Kgficm?’)
VGU-10H5 1.0 27 690 44 5.0
Y = B +
MR E (Kgflom?) | FE VGU-10L5 1.0 36 430 44 5.0
TIEEN  (Kgficm?) | 1~6 VGU-15H5 15 63 690 100 5.0
$BE®E  (mmHg) | 0~759 VGU-15L5 15 95 430 100 5.0
WEA  (Kgflom) | 5 VGU-20H5 2.0 110 690 180 5.0
— - VGU-20L5 2.0 165 430 180 5.0
BiFRE +1%FS VGU-10H35| 1.0 25 680 44 35
EEEE 0.05% VGU-10L3.5 1.0 32 430 44 35
B = (mmHg) | 1~10%(3A) VGU-15H3.5 15 54 680 100 35
Ip— 30V - BOMA VGU-15L3.5 15 86 430 100 35
’E_” - VGU-20H3.5 2.0 88 680 180 35
H AR EERF IR VGU-20L3.5 2.0 150 430 180 35
kvi =
SNEB R ~F
2—9 |1EE? %’E%"E
M \ A K c Rt A|B|Cc|D|E|F |G |H
\ G F | L(esm=) =
| VGU-10 | 46 | 35 |16 |10 | 8 | 13 | 18 | 4
& S— DJ VGU-15 | 65 | 30 | 20 | 12 | 10 | 22 | 23 | 5
z _ - __ N R 1 1
s % — |l veu-20 [ 88 | 38|26 [12 | 13] 25 |35] 6
£ N ‘ =
! 53% 3
® | — 1| J |k |L|m|N|O]|P
J(mzo) Lg—j =7
o P VGU-10 |42 [ 18 |10 [1/8 | 28 | 16 | 84 | 32
VGU-15 |45 [ 1/4 | 15 [ 1/4 | 39 | 21 | 119 | 36
VGU20 |52 [3/8 ] 20 [1/4 | 50 | 26 | 158 | 42

343



5
O
<
9,
<
0
g
2
i
g
élg

FX mm 5] 18 3R 7R

VGM [— 10
[

[
BEZE#ER EEEE
l [

g 10:1.0mm
IjJ 15:1.5mm
At
=1
=
ER
4
25

RIS R

fE e EE#ZER /1SO-VG32

ERRE (°C) 0~60

EMEE B (Kgfiom?) | RE

ZHIRE HEHR

T EEA (Kgflcm?) 1~6

BEETE (V) AC110 | AC220 | DC24

fE A EEEE -10%~+15%

MBS (VA) VA | svA | 5w

ENEVEE +1%FS

EREE 0.05%#

E % (mmHg) 1~10% (I 58)

HHE DC~30V : 80MA

HARR EES S

1514 R

B | BEEER HRE |INEEZE |ZERHEE | H#HEEN
HR (mm) (¢min) (-mmHg) (N&/min) (Kgfien)
VGM-10H5 1.0 27 690 44 5.0
VGM-10L5 1.0 36 430 44 5.0
VGM-15H5 1.5 63 690 100 5.0
VGM-15L5 1.5 95 430 100 5.0
VGM-10H3.5 1.0 25 680 44 3.5
VGM-10L3.5 1.0 32 430 44 3.5
VGM-15H3.5 1.5 54 680 100 3.5
VGM-15L3.5 1.5 86 430 100 3.5

344



JFC VGM ZIHREE 24 28

o EFXNEZEFEIMEHIEIEE
H A 7§ P &l 0 BE A Bl
AERE R E
fic 4% & {EENR AR [ WF B
DC+24V ov SW om%z | SW om% | SW omZ DC+24V ov SW oEz SW _om%
o—ofsi ﬂm o\zm O\O&g 0/: -
ORBE ol % 4 R
® (== — ® [a= s | | [mwws
= wezm | |[mzme | | [3=ON -
ff; BM | ey \‘—‘ lil©) |
#a o oFF || I ® | HzEElE
ii AVM(Kissing) < ©) Eif‘ﬁﬂé ¢ |
= SOL \ B
% B ‘ CR1 N |
A CR1 e
el - R = H et || TR
—~ ® LT izt Wi
% ORI o o R |
B - vs CR2 SOL1 @iﬁé‘f? ‘ RE
o8 - e
1 d R
S A I | TR1 SOL1 [#4#4K o
HERE 2
L/\fgimsa PE sw & v wzj;ﬁ . ‘
T Bz OFF LW % % &‘ﬁ
CR1 i | L]
i ©
‘ TR SOL2 |pg OFF
i v |
U R EEE R
— |
I\ LR
SpEB R ~F
e VGM-10/15
PS1/8e5(ER)
‘ P — K
bl 2—¢ BEIEF c D E F ‘ L ‘
< 4 1 -
:{DDDD e ¢ §>@E . Eerm| @
o 00 ‘ |
MY | ‘ Q| o |
L\ wrmes || ,_,,> M il e\ T
VS-030W-01 |
L T T ——
TS i i
‘ | B ‘
H l I [ 16 35 M
A
ALk
b A B C D E F G H | J K L M N (o] P

VGM-10 | 165 | 4.2 19 18 24 50 45 42 14 |PS1/8| 60 28 57 11 12 150
VGM-15 | 180 | 4.2 20 23 31 51 46 55 16 |PS1/4| 61 295 | 60 | 125 | 14 165

345




JFC VGM ZINREE =24

E ZE % 47t 158 5K [E] SAEAT

— PxA
W—fox(1.0332)

5{%

W : IRZBEA (kgf)
P : EZEA(-mmHg)
A RBEEE(cm?)
f: Z2&%H
5t KEEIRER - =40 E
FEHERER - =6~8l L

=
LI |
= 0

IKFEIR T EHRT

5 [E Ik 58 38 5 2K S IR & 77

o IFBEL: 10~40mm o IRBBETE: 50~200mm

% 225 @20 215 | \ @10
235

250//060 280 CIL -
-600 5
~—_| ~_ \ ‘0 // /

NN\ Lo WA _—
T S (i)
(kg) 8 7 6 5 4 3 2 1 0 0 50 100 150 200 (kg)

¥ & TR = 7]

o [EIRE

%8R ~F(@mm) 2 3.5 5 6 8 10 15 20 25 30 35 40 50 60

RZEEE(cm?) 0.031|0.096 | 0.196 | 0.282 | 0.502 | 0.785| 1.767 | 3.141 | 4.908 | 7.068 | 9.621 | 12.56 | 19.63 | 28.27
- 700 mmHg 0.029 | 0.091 | 0.186 | 0.269 | 0.478 | 0.747 | 1.681 | 2.989 | 4.670 | 6.725 | 9.153 | 11.95 | 18.68 | 26.90
- 600 mmHg 0.025|0.078 | 0.160 | 0.230 | 0.409 | 0.640 | 1.441 | 2.562 | 4.003 | 5.764 | 7.846 | 10.24 | 16.01 | 23.05
- 500 mmHg 0.021 [ 0.065 | 0.133| 0.192 | 0.341 | 0.533 | 1.200 | 2.135 | 3.336 | 4.083 | 6.538 | 8.540 | 13.34 | 19.21
- 400 mmHg 0.017 [ 0.052 | 0.106| 0.153 | 0.273 | 0.427 | 0.960 | 1.708 | 2.668 | 3.843 | 5.230 | 6.832 | 10.67 | 15.37
- 300 mmHg 0.012 [ 0.039 | 0.080| 0.115| 0.204 | 0.320 | 0.720 | 1.281 | 2.001 | 2.882 | 3.923 | 5.124 | 8.006 | 11.52

g 82 R <t (@mm) 80 95 100 | 120 | 150 | 200
IR ZmE#E(cm?) 50.26 | 70.88 | 78.53 | 113 | 176.7 | 314.1

- 700 mmHg 47.82|67.44 | 74.79 | 107.6 | 168.1 | 298.9
-600 mmHg 40.99 | 57.80 | 63.05 | 92.23 | 144.1 | 256.2
- 500 mmHg 34.16 | 48.17 | 53.37 | 76.86 | 120.0 | 213.5
-400 mmHg 27.3238.53|42.70|61.48| 96.07 | 170.8
- 300 mmHg 20.49 | 28.90 | 32.02 | 46.11| 72.05 | 128.1

346



JFC

VPA EEE IR

\7__3 ”
\ /
\ 4 4
¥ q
ook

fic & 18 38

T

{({

BATHE £

VPA — A — 10 | N
l l l 1
BEERE EEESR RBER~ | REBME
1 l l l
oo AT EERE 5:5mm N : NBR
B (05~095) | (Biomm si B’
E 8:8mm :
=} Bl E 1010 mm
ZE (65-2200) | 15 15 mm
17} ASIIEEE| |20:20 mm
Ag MU 2525 mm
(25~295) 30: 30 mm
BSfl@EZE | |35:35mm
T EE A 40 : 40 mm
(@5~ 2200) 50 : 50 mm
60 : 60 mm
80 : 80 mm
95:95 mm
100 : 100 mm
120 : 120 mm
150 : 150 mm
200 : 200 mm

VPA-A LA EEE VPA-B @B & VPA-AS I [afEMEEZR | VPA-BS fAl[a)fip & i B AU
VCA
v
| EEB<VCA
2K AR
2R RN
a0 4+ BE +
g 82 ¢ 8 BS54
BE| i o | TRME | WSHE ‘ y ' o | TR ’ ER
- BE |LRH e S) MRE | MRE | M | WEE | WER ST MM | Wik Py EEHS
NBR © © © A (@) @) @) X °© (@) O °© O 70+5
WiE A O A A (@) O O © ® X X (@) ° 505

WO Ea O KHELES ; A FEE ; X RaEA

347




JFC

o VPA-AEEIIOEE(05~095)
o IREER~T: ¢5 - 96 ~ ¥8

2-5.5

----- -Gt

10

20 5
40
a5
‘ ‘ 2.5
. @ M8x1.25
H 10H
m T
=} | ! !
A [ ! 1 : [ : |
I a «
(@] !
T
on
ERt
AU A B (o3 D
VPA-A-5 5 28 6 0.9
VPA-A-6 6 28 6 1.0
VPA-A-8 8 27.5 55 1.4

o MBER~F: 925 ~ 30 ~ ¢35 ~ p40 ~ ¢50

@5
o3
|
M10x15 [ ©
L
14H o @
| & o
E 1
ﬁF/ L \ °
\

A ROSE| A B c D E

VPA-A25 | 25 62 14 3 M6
VPA-A-30 | 30 60 12 2 M6
VPA-A-35 | 35 62 14 3 M6
VPA-A-40 | 40 62 14 3.5 M6
VPA-A-50 | 50 63 15 4 M8

348

VPA EEBEH

o RER~F: 910~ 015 ~ 920

oo

s

@5
o3
|
M8x1.25 m ©
i
m
10H | o .
; ~
M5x0.8 i
<
I \ )
oﬁ;';
oA
RO
o A B c D
VPA-A-10 10 46 8 1.3
VPA-A-15 15 46 8 1.9
VPA-A-20| 20 48 10 2.3
o IRBR~F:060 80 - p95
PS 18 M16x1.5
' 2
]
| g
| o
M10x1.25 1
! |
T~ |
_% (@)
V |
e
oA
RC3E
A A B c D
VPA-A-60 60 56.5 16.5 5
VPA-A-80 80 60.5 20.5 6
VPA-A-95 93 61 21 6




4]
M

JFC VPA EE HZEIREE
5085 R <1 B

e VPA-AS ERE M E M EZE(p5~095)

o IR3ER~T:05 0608 o IRBER~T:910- ¢15-¢20
2-05.5
@5
O OO - z
| wo 2
2040 10 _| 5 M11x1.0  ff

14H

Q
a
R
19

1 @25

| =
‘ E
‘(11 M8x1.25 w | ::: o
10H S B
I [ w
o X | | ‘ P
- [ | 1 N
@ [ 1 J T T N {‘ :::
e M5x0.8 L _
w d ‘ C \\4 \
o ko (@]
4 30k e L
S ; 1 w @A
oA |
RO FCSR
B A|B|c|D|E|F|u|mm A lalslc|o e |F (kg |imim)
VPAAS53 | 5 |346| 4 |26 6 |09]01] 3 VPA-AS-10-4 | 10 |54 | 8 | 3 | 8 |13 ] 03] 4
VPA-AS-5-10| 5 |486]| 4 [26| 20|09 0.1] 10 VPA-AS-10-10| 10 |66 | 8 | 3 [ 20|13 ] 03 | 10
VPA-AS-5-15| 5 |586| 4 |2.6|30]09]0.1] 15 VPA-AS-10-20| 10 | 86 | 8 | 3 |40 |13 ] 03] 20
VPA-AS-5-25| 5 |78.6| 4 [26|50 |09 01| 25 VPA-AS-10-30| 10 [106 | 8 | 3 [ 60|13 ] 03 | 30
VPA-AS6-3 | 6 |346| 4 |26| 6 [1.0] 01| 3 VPA-AS-15-4 |15 |54 | 8 | 3 | 8 |[19] 03] 4
VPA-AS-6-10| 6 |486| 4 [26|20[1.0] 0.1] 10 VPA-AS-15-10| 15 | 66 | 8 | 3 |20 |19 | 03 | 10
VPA-AS-6-15| 6 |586| 4 |26|30[1.0] 0.1] 15 VPA-AS-15-20| 15 | 86 | 8 | 3 |40 |19 ] 03] 20
VPA-AS-6-25| 6 |786| 4 [26|50[1.0] 01| 25 VPA-AS-15-30| 15 |106 | 8 | 3 |60 |19 | 0.3 | 30
VPA-AS-8-3 | 8 |34.1|55|06| 6 [14] 01| 3 VPA-AS-20-4 | 20 |56 |10 | 3 | 8 |23 ] 03] 4
VPA-AS-8-10| 8 |48.1]|55|06|20 |14 0.1] 10 VPA-AS-20-10| 20 | 68 [ 10 | 3 [ 20|23 [ 03 | 10
VPA-AS-8-15| 8 |58.1|55|06|30 |14 01| 15 VPA-AS-20-20| 20 | 88 [ 10 | 3 |40 |23 ] 03] 20
VPA-AS-8-25| 8 |78.1| 55| 06|50 1.4 ] 01| 25 VPA-AS-20-30| 20 [108 [ 10 | 3 [ 60 [23 | 0.3 | 30

349



=== e [} A%
VPA B2 HZEIRER
=1
SNER R~ [El
o RHER~F: 925 30 ~ p35 - 940 -~ @50 o RAER~T: 960 -~ 980 - ¥95
o7
o5
4.5
o3 |
| o ©
I ~ Mi6x15 N
M14x1.5 H— -
21H jt
17H T ©
. E: < 8
ol
< o
Fo | Fo
.- ) ‘ =
‘ = w P o
W | : m S ‘ :
S ‘ = - w
B w B
| P b
| =] { =]
@25~ @40=M6 o [N [ M10x1.25 R
@50=M8(M6 ! o
( |5 ! \_j
' o
4 O w |
= —
‘ oA
oA
RO w RO w S
ik oy Al B 1 CID|E|F kgf]|(mm) idhay A | B |C|D|E/F|kg|mm)
VPA-AS256 | 25 | 71 |14 | 3 |13 ]| 3 |04 | & VPA-AS-60-10| 60 [108.5/16.5| 19 [ 20 | 5 | 1.0 | 10
VPA-AS-25-15| 25 | 88 |14 | 3 [ 30| 3 |04 | 15 VPA-AS-60-30| 60 [148.5/16.5| 19 |60 | 5 | 1.0 | 30
VPA-AS-25-30| 25 | 118 |14 | 3 |60 | 3 | 04 | 30 VPA-AS-60-50| 60 [188.5/16.5| 19 [100] 5 | 1.0 | 50
VPA-AS-25-50| 25 | 158 | 14 | 3 [100] 3 | 0.4 | 50 VPA-AS-60-70| 60 [288.5/16.5| 19 [140| 5 | 1.0 | 70
VPA-AS-30-6 |30 | 69 |12 | 3 |13 ]| 2 |04 | & VPA-AS-80-10| 80 [112.5/20.5| 19 [ 20 | 6 | 1.0 | 10
VPA-AS-30-15| 30 | 86 |12 | 3 [30 | 2 | 04 | 15 VPA-AS-80-30| 80 [152.5/20.5| 19 [ 60 | 6 | 1.0 | 30
VPA-AS-30-30| 30 [116 [ 12 | 3 |60 | 2 | 04 | 30 VPA-AS-80-50| 80 [192.5/20.5| 19 [100] 6 | 1.0 | 50
VPA-AS-30-50| 30 | 156 | 12 | 3 [100] 2 | 0.4 | 50 VPA-AS-80-70| 80 [232.5/20.5] 19 [140] 6 | 1.0 | 70
VPA-AS-356 | 35 | 71 |14 | 3 [13] 3 [ 09| 6 VPA-AS-95-10] 93 [113 | 21 [ 19 [20 | 6 | 1.0 | 10
VPA-AS-35-15| 35 | 88 [14 | 3 [30 | 3 [ 09 | 15 VPA-AS-95-30| 93 [ 153 | 21 [ 19 [60 | 6 | 1.0 | 30
VPA-AS-35-30| 35 [ 118 |14 | 3 [ 60 | 3 | 0.9 | 30 VPA-AS-95-50| 93 [ 193 | 21 | 19 [100] 6 | 1.0 | 50
VPA-AS-35-50| 35 [ 158 | 14 | 3 [100] 3 | 0.9 | 50 VPA-AS-95-70| 93 [ 233 [ 21 [ 19 [140] 6 [ 1.0 | 70
VPA-AS-40-6 | 40 | 71 |14 | 3 |13 [35] 09 | 6
VPA-AS-40-15| 40 | 88 [ 14 | 3 [ 30 [35] 0.9 | 15
VPA-AS-40-30| 40 [ 118 [ 14 | 3 |60 [3.5] 0.9 | 30
VPA-AS-40-50| 40 [ 158 | 14 | 3 [100[3.5] 0.9 | 50
VPA-AS-50-6 | 50 | 89 |15 [20 |13 ] 4 |09 | 6
VPA-AS-50-15| 50 | 89 [ 15 | 3 [30 | 4 | 0.9 | 15
VPA-AS-50-30| 50 [ 119 [ 15 | 3 [ 60 | 4 | 0.9 | 30
VPA-AS-50-50| 50 | 159 | 15 | 3 [100] 4 | 0.9 | 50

it RPERWARARES /21T (kof) - SKEREGTE(m/m)

350




JFC
5) 2 R > B

e VPA-B EERIEAEE (95~0200)
o RAEBRT:05 - 06 - 08

o AR ~t: 910~020

21 21
rmo M4x0.7 R6mm 10 Mé4x0.7 F6mm
N
™ 10H i ~ s 10H
" N @ N
ESiIE = 5 @ — 2
g8 il 8| 8 |
o%: ‘ o o
oA e
DA
EES B3R
AUt A B C D FiTEey A B C D
VPA-B-5 5 28.5 4 0.9 VPA-B-10 10 30 8 1.3
VPA-B-6 6 28.5 4 1.0 VPA-B-15 15 30 8 1.9
VPA-B-8 8 28 55 1.4 VPA-B-20 20 32 10 2.3
o IREER~T: p25~p50 o IRBER~T: p60~0p95
23 M8x1.25 F11mm @17
212 M6x1.0 FE8mm
®
o 14H
N o
{ N ~
:EE @ I - a5 m
2 8‘[ 2tH— | M10x1.25
PS 1/8 L % -
O |
oA 1 ~ o
| oA |
N RO A B c D E o ROSE| A B c D
VPA-B-25 25 46 14 3 M6x1.0 VPA-B-60 60 56.5 16.5 5
i -
-D- X1.
VPA-B-40 | 40 46 14 3.5 |M6x1.0 VPA-B-95| 93 61 21 6
VPA-B-50 50 47 15 4 M8x1.25

351




JFC VPA EE AR
508 R <

o RER~F: 0100 o REER~F: p120~¢200
M16x2.0 % 20mm @30
\‘

M12x1.75 & 18 mm

R

@22
|
PS 1/8 J ©
A\ ! m
]
|

50
3
_/
D
N AT ]

3 }
LS A L
© L | \4 o [—I‘i
! @100 ‘ o 1
4-M8 @40
oA
e B c
VPA-B-120 120 74 24
VPA-B-150 | 150 875 | 375
VPA-B-200 | 200 875 | 375

A A

352



o
M

JFC VPA EEHZEIREE
508 R <t B

e VPA-BS EERREEMEZE (05~0200)
o REBR~F: 05 - 06 - ¢8 o RER: 910 915 - 920

M10x1.5 12H M11x1.0

14

=T e

i A8 |c D |E|F |l wx Al B |c|D|E|F|u|mm
VPA-BS-5-3 5 |505| 4 |245| 6 09| 0.1 3 VPA-BS-10-4 10 60 8 22 8 1.3] 0.3 4
VPA-BS-5-10 5 |645| 4 245,20 |09 01 10 VPA-BS-10-10| 10 72 8 22 | 20 [1.3] 0.3 10
VPA-BS-5-15 5 |745| 4 |245| 30 |09 0.1 15 VPA-BS-10-20| 10 92 8 22 | 40 [1.3] 0.3 20
VPA-BS-5-25 5 |1945| 4 |245|50 |09 0.1 25 VPA-BS-10-30| 10 | 112 8 22 | 60 [1.3] 0.3 30
VPA-BS-6-3 6 |505| 4 |245| 6 1.0 0.1 3 VPA-BS-15-4 15 60 8 22 8 19| 0.3 4
VPA-BS-6-10 6 |645| 4 |245| 20 |1.0| 0.1 10 VPA-BS-15-10| 15 72 8 22 | 20 (19 ] 0.3 10
VPA-BS-6-15 6 |745| 4 |245| 30 |1.0| 0.1 15 VPA-BS-15-20| 15 92 8 22 | 40 (19 0.3 20
VPA-BS-6-25 6 |945| 4 |245| 50 |1.0| 0.1 25 VPA-BS-15-30| 15 | 112 8 22 | 60 [19] 0.3 30
VPA-BS-8-3 8 50 551|225 6 141 01 3 VPA-BS-20-4 20 62 10 22 8 231 03 4
VPA-BS-8-10 8 64 55122520 |14 | 0.1 10 VPA-BS-20-10| 20 74 10 22 | 20 (23] 0.3 10
VPA-BS-8-15 8 74 551|225/ 30 |14 | 01 15 VPA-BS-20-20| 20 94 10 22 | 40 [2.3] 0.3 20
VPA-BS-8-25 8 94 55122550 |14 | 0.1 25 VPA-BS-20-30| 20 | 114 | 10 22 | 60 [2.3] 0.3 30

353



4]
M

JFC VPA EEHZEIREE
5h 85 R <1 B

o IREER~F: 925~ ¢30 ~ ¢35 ~ 40 - 50 o IRAR~F: 960 - 080 ~ P95
M14x1.5 211
- N & M16x1.5
Ll
wl
oM
o m
A o
[a) a5
YoM Ne») 1 .
S 0 M10x1.25
@25~@40=M6 —
@50=M8 o [ m
oA i
| oA
g | A | B ¢ |0 |E|F |gn|mm |mx——|A|B |c|D|E|F|&|mm
VPA-BS25-6 | 25 | 87 |14 |32 |13 | 3 | 04 | 6 VPA-BS-60-10| 60 | 109 |16.5| 40 | 20 | 5 | 1.0 | 10
VPA-BS-25-15| 25 | 104 | 14 |32 |30 | 3 | 04 | 15 VPA-BS-60-30| 60 | 149 |16.5] 40 | 60 | 5 | 1.0 | 30
VPA-BS-25-30| 25 | 134 | 14 | 32 |60 | 3 | 0.4 | 30 VPA-BS-60-50| 60 | 189 |16.5| 40 |100| 5 | 1.0 | 50
VPA-BS-25-50| 25 | 174 | 14 | 32 [100| 3 | 04 | 50 VPA-BS-60-70| 60 | 289 |16.5| 40 |140| 5 | 1.0 | 70
VPA-BS-30-6 |30 | 85 |12 |32 |13 | 2 |04 | 6 VPA-BS-80-10| 80 | 113 |20.5| 40 | 20 | 6 | 1.0 | 10
VPA-BS-30-15| 30 | 102 |12 |32 |30 | 2 | 04 | 15 VPA-BS-80-30| 80 | 153 |20.5| 40 | 60 | 6 | 1.0 | 30
VPA-BS-30-30| 30 | 132 | 12 |32 |60 | 2 | 04 | 30 VPA-BS-80-50| 80 | 193 |20.5| 40 |100| 6 | 1.0 | 50
VPA-BS-30-50| 30 | 172 | 12 | 32 [100| 2 | 0.4 | 50 VPA-BS-80-70| 80 | 233 |20.5| 40 |140| 6 | 1.0 | 70
VPA-BS35-6 | 35 | 87 |14 |32 |13 | 3 | 09 | 6 VPA-BS-95-10| 93 | 113 | 21 | 40 | 20 | 6 | 1.0 | 10
VPA-BS-35-15| 35 | 104 | 14 |32 |30 | 3 | 09 | 15 VPA-BS-95-30| 93 | 153 | 21 | 40 | 60 | 6 | 1.0 | 30
VPA-BS-35-30| 35 | 134 | 14 |32 |60 | 3 | 0.9 | 30 VPA-BS-95-50| 93 | 193 | 21 | 40 |100] 6 | 1.0 | 50
VPA-BS-35-50| 35 | 174 | 14 | 32 [100| 3 | 0.9 | 50 VPA-BS-95-70| 93 | 233 | 21 | 40 |140| 6 | 1.0 | 70
VPA-BS-40-6 | 40 | 87 | 14 | 32 | 13 | 35| 09 | 6
VPA-BS-40-15| 40 | 104 | 14 | 32 | 30 | 35| 09 | 15
VPA-BS-40-30| 40 | 134 | 14 | 32 | 60 | 35| 0.9 | 30
VPA-BS-40-50| 40 | 174 | 14 | 32 [100| 35| 0.9 | 50
VPA-BS-50-6 | 50 | 88 | 15 |32 |13 | 4 | 09 | 6
VPA-BS-50-15| 50 | 105 | 15 | 32 |30 | 4 | 0.9 | 15
VPA-BS-50-30| 50 | 135 | 15 | 32 | 60 | 4 | 0.9 | 30
VPA-BS-50-50| 50 | 175 | 15 | 32 [100| 4 | 0.9 | 50

354



[ =] = R — L
F VPA B EH RS
[= o Jen m)
kvi =
ShER R ~+
o RBER~T: ¢100 o RHER~F: 9120 - 150 - 200
36H
L 27H
D>i ]
° 1 Y M30x1.5
2 j\ M22x1.5
m W
w S
4-M8
[m)
(@) T8
n 2N
sk wls 5 w
Bz Al B |C|D|E|Fkg)|mm) mgt ~_ A | B | CID|E|F kgh)|mim)
VPA-BS-100-15|100 | 106 | 19 | 16 | 30 6 | 1.5 15 VPA-BS-120-20 | 120|204 [25.5| 50 | 75 6 1.5 | 20
VPA-BS-100-30 | 100 ({136 | 19 | 16 | 60 6 |15 30 VPA-BS-120-100| 120 | 294 |25.5| 50 [165| 6 1.5 | 100
VPA-BS-100-50|100 |176 | 19 | 16 |[100| 6 | 1.5 50 VPA-BS-150-20 |150|216|37.5| 50 | 75 |14.5| 1.5 | 20
VPA-BS-100-70|100 |216 | 19 | 16 |140| 6 | 1.5 70 VPA-BS-150-100| 150 | 306 |37.5| 50 |165 |14.5| 1.5 | 100
VPA-BS-200-20 |[200|216|37.5/ 50 |75 | 13 | 1.5 | 20
VPA-BS-200-100| 200 | 306 |37.5| 50 (165 | 13 | 1.5 | 100
i1 RPEHRWRREZ12TIER/FHE N (kof) - SKRREBEHTEM/mM)

355



PA E

“@%ﬁﬁ

PATHE £

PA — 10 — 1
l l l
EBERE R 48 S g =
l l
ao 5:5mm 25:25mm | 80:80 mm
= 6:6 mm 30:30mm | 95:95 mm
E 8:8 mm 35:35mm | 100 : 100 mm
1) 10:10mm | 40:40mm | 120: 120 mm
ﬁ 15:15mm 50:50 mm | 150 : 150 mm
. 20:20mm | 60:60 mm | 200 :200 mm
i
B
VPA
%
5l
Ah 88 R ~t
PA-05 PA-06 PA-08 PA-10
@75 @75 78 8.5
6 76 26 a6
24 @4 a4 ‘%"
— [T ;E m ~ “‘:I; —
o~ I | EI o~ -Hj ‘ l:; o o~ L El
° | 214 ° $J_g‘72 - 9 b I o2
25 o6 210
PA-15 PA-20 PA-25 PA-30
@12
7.8 215
@4.6 216 214
4.6 ﬁ o

211
@20 @25
PA-35 PA-40 PA-50
@27
@21 @24 220
a8

1
Do |
s
=2
A
Vi

356

4]

W

@29



JFC

B

T
W
i
j

PA-120

15.5
9.5

1.5

12.5

1.5

| 24 ‘

36

357

14.5

T 185

o
>
0

PA-80

212.5

M10x1.25

25

18

PA-100

@21.7

M12x1.75p

Al

12.5




JPC/JQE

PR mE] BB R R

z JPC 02
P A [ [
B (WS
e l
ol 02: Re1/4
1k 04: Rc3/8
]
*E 1(%:‘55 ® JPC-02 ® JPC-04
oig RC1/8 828 RC1/8
ﬂgﬁ, JPC'OZ JPC'04 ‘III ! |||| \ 1 [
Of(Re) 1/4 3/8 | }
fEFRRE BRHEZER g (I e L1
B ) (kg/om?) 0.5~9.5 | D) s ]
ERRE(C) -10~+70 \_ | . | -
BXEEE(Mm?2) 24 79 o [T 8 !
£(FSRE (times/mi ' . ‘
i ;E (times/min) 60 40 A — <
E2(9) 100 340 S
PF3/8 42
f ‘ﬁ = BE
JQE REHERHE shER R~ B
RS JQE-01 [ JQE-02[ JQE-03 | JQE-04 | JQE-06
O#(Re) 1/8 1/4 3/8 12 | 3/4
ERRAS BHE=ER
EREE(C) 0~60
{& FA BZ 3 (kgf/cm?) 1~7
BAJTE (0/min) | 600 | 1450 | 1450 | 3000 | 3900
EE() 40 100 | 80 240 | 230
rgr—rs —
X mE] RN
ShEE R ~T
; . JQE || 02 |
l
1=
—— I el
© L L3 o 01:Rc1/8
PS | _ - . PD — 02:Rc1/4
R R “ 14 -+ i 03:Rc3/8
T~ T P R ‘ \ .
o L:A E \\‘/// L 04:Rc1/2
B A \ B 06:Rc3/4
~ | C
FO5R
e A B | C D E F| G H J K | L | PS| PD
JQE-01] 40 [ 8 | 16 9 | 14 | 26 [ 35 | 12 | 34 [ 226 26 | 1/8" | 18"
JQE-02| 62 | 13 | 26 | 12 | 22 | 45 | 55 | 19 | 4 | 205335 | 14" | 38"
JQE-03| 62 | 13 | 26 | 12 | 22 | 45 | 55 | 19 | 4 | 295|335 | 38" | 3/8"
JQE-04| 69 [ 20 | 40 | 20 [ 36 | 51 | 62 | 20 | 4 | 46 | 50 | /2" [ 12"
JoE06] 69 | 20 | 40 | 20 [ 36 | 51 | 62 | 20 | 4 [ 46 | 50 | 34" | 34"

358



JFC JBV B Eh78 R
JBV 3B &):H FERS

r [H B on 7] #8 3R 7R

JBV — 02 — A
[ \ \
455 470 *g
- O OKfELE
1B ‘ ‘
L) 01:Rc1/8 | |ABESMF
% 02:Rc1/4 BIEROENF
75 03:Rc3/8 HR O
04:Rc1/2
Vs
ANER R ~F
Fithoi JMV-01 | JMV-02 | JMV-03 | JMV-04
O%&(Re) 1/8 1/4 3/8 112
A= el v
fEFmEE BiEzxER
ERRE(CC) 0~60
BATRE(@min) | 530 | 1000 | 1100 | 2500
EE(9) 40 100 120 280
e
ANER R ~F
o A:EESNTF o BiEROEAST HmORINF
zeEel e | -} SEER e il ez
C F B E C F B ] E
A A
o E B c E F G H PS sw
Bv.or LA 51 25 8.5 9 8.5 21.3 23.8 1/8 14
B 59 25 16.5 9 8.5 21.3 23.8 1/8" 14
Bv.0p LA 74.6 32 17.5 13.8 11 27.5 30 1/4 17
B 71.8 32 15 13.8 11 27.5 30 1/4" 17
Bv.0s LA 76 32 18.5 14.5 11 27.5 30 3/8 19
B 725 32 15 14.5 11 275 30 3/8" 19
JBV-04 | A 88.5 435 17 14 14 40 44.7 1/2" 26

359



